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Note:~ You have four choices for each Objective lype question as A, B, Cand D. The choice, which you think, is correct; fill that circle in

front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that
question. Write PAPER CODE, which is printed on this question paper, on the both sides of the Answer Sheet and fill bubbles accordingly,
otherwise the student will be responsible for the situation. Usc of ink remover or white correcting fluid is not allowed

(D) (€) (B) (A) QUESTIONS Q-1
< . g F L (2 ,~2) s~ d
(a,n (0,0) (-2,-2) (2,2) e Qj R BT | o
Mid-point of the points (2, -2) and (-2 ,2) is
. :.CJ:}'Ji"ju"u?ﬁ.ﬁ»’kﬁ“d}bc.-d;/&bi;gu"}?_ﬂugf 2
s 257 il Saaf w2l . 3
) ) A point equidistant from the =2 O s
Median Perpendicular | Right bisector Bisector . ] ] ) o i
end points of a line~segment is on its
JJTJUJUCC.JL93O°:,;U»Q,;a.ﬁb"z:d.ﬂugwd;ﬁ 3
120 90 60° 30" Onc angle on the base uf an isosceles fb'gr./!/.?f
triangle is 30°. What is the measure ofits vertical angle
3
, ; - 4
ﬁc‘:,,;z)':{gjﬁ'h;)l/‘é 0 1};}5’
3-by-~1 1-by~3 2-by-3 3-by-2 [2 7 4 &
Order of transpose oin 1iis .
b 132
2 6 7
B A AR l = 00 | B
6 -6 -9 9 6 LR
xl = @, then X is equal to
3 1 A
s 35 — 3 5
|35 3 10A/35 the radicand is
‘ o . IR { { S T
>t —3 == 4 v A =5 &4 )
The conjygate of 5 -+ 41 is
log q 14 4q
: lo e lo —) lo (—) logp—logqg= =logp—lo .8
log s 9@~ a) 9lg g\ gp-logg=_ __=logp-logg
(logm)™ log(mn) mlogn nlogm ...g_(:‘/.b(aﬁ(j{_ flog mt .9
(a+ b)a? ~ab + 5% {1~ b)@® - ah + b7} (u + B)(a? + ab - b} (@ - b)a + ab + b?) (2 -+ b I8 equa _ﬁ‘_.,(l/.ClS + b3 10
«L,g--wdﬁz.m&sz —x—=2.11
G-1)008x-2) | &x-1)0Cx+2) | G+108x+2) | G+1).3x-2) — o
Factorsof 3X“ — x — 2 are
it EASA 14 a+3
= a+3 a+7 g+ g A e X | 12
a+3 a-—=6 a-2 a-6 Simplify — +ua"‘14><£l;‘i‘§~
PUY a2 30-18 " g-2
y 1
#o 1 1 1 1y i O g+ 2| 13
i 16 e % . R x
PYANEN YA} A YA
. - X/ ; * X/ | The square root of x* —f—;;; +2k
3 e KoL -2 <x < i‘z’-c,f,w,;‘x = 14
3 = 0 5 .
2 X = ___isasolution ofthe inequality —2 < x <{ -
‘zz:./,’/_y;’ﬂ} =2x+1cx = Z./i 15
5 4 3 2 .
| . L Hy=2x+1, x= Z2thenyis
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Answer brigfly any Six parts from the followings. 6x2=12 .q’f 4 f =ALR /‘3 Ziz A;’c.,éf e S5l 2 /U!r

Z 3 2 3 ;
Multiply the matrices |1 1 [2 —1] 1 1 [2 Nl]Q/r}”J'Abd/ B
3 0 3 0 :
0 =2 0 -2
Find the multiplicative Inverse. (if it exist) A = [—21 3] A= [_—21 g] (nuc'ﬁ)q/r}vuﬁ' d” G

Evaluate °°
Find the valueof X and y if x + iy +1 =4 — 3
Find the value of X from the statement Log,x = 5
Write in the form of single Logarithm Log 25 - 2 Log3
Simplify

Factorize 3x — 243x3

g A0 Giid)

wx 4 iy +1=4-30 SigSpedyax G
Logsx =5 u:/()-’”;'.‘fd/xuffahv (v}

Log25 - 2Logd -5 Ut S Khwt ()

(3+v3)(3-v3) /A (iid Simplify V21 x V7 x 3 J A Gib
3x — 243x% /84 (0

Answer briefly any Six parts from the followings. 6%2=12 -/ /(/,_ /’ AR /‘“f Ziz ;gc.(jy( c._u:;t;'fw -3 / Ji
o 1 1 @
By Factorizaticn find square root. x% -1+ P (x+ 0) xZ—1+ ) (x # 0) —ér)x"’d/l/,wd/‘,.g{,w G)

Solve

Verify the point (0, 0) lies on a given line ornot. 2x —y +1,=0
Determine the quadrant. P(—4,3), Q(=5,—2)
Define Equilateral triangle.

Find distance between two points. A0,0),B(0, ~5)

Find m and X for the given congruent triangles.

Findx y°, m’ and n inthe given figure.

Vix+3 =Vx-2 -2JSGD) Solve V2x—=4-2=0 ) G
2x—y+1=0 uf&c‘_é!;/?;fmjnd)(ﬂ,mﬁ,fé@ﬂ Gv)
P(—4,3),0(=5,-2) &8, W
_elBbbnggEay ) (i)

AC0,0),B(0,~5) & Leben b (vid)

b i ame Ui Sl Giid)

ek’ amy, xSt E g @O
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Answer briefly any Six parts from the followings.

o 560623

6x2=12

,u’n/4/zcagﬁﬁfa.?lepzc.—afc_ufdjbﬂ .4/.]‘)1)’

In the given congruent triangles LMO and LNO, find the (':L‘”zi/ﬁ/d/m/:lx rﬁl’”tquNO #SILMO UWL}&U’J@ )
unknowns X and m. I\ K y 73
2+ 6 L+ \\
" eyl M=~ T1_ N
What will be angle for shortest distance from an outside tﬁ’aqﬁiﬁﬁaufﬁiawzgaﬂ@ﬁéb&r Gi)
point to the line? NP P fi(/&bﬂﬂ:bi;ﬁ
Define Similar Triangles. _u S S ueeaiie (i)
Find the unknown value in the given figure. -/ A7 (:/L”' c«-g d/ x(:"" b J’/; { S Gw)
5 /2 cm . Mcm
Iem 1 o

Verify that A having the following measures of sides is ..:»i"f:/fu’fdﬁ-ujd::/,«/ b JCUJM Leak )
right-angled. a=16¢m,b=30cm,c=34cm a=16cm,b=30cm,c=34cm _4_15171}?5’

Find the area of the given figure. -u_’/(}”',;"/*{gﬁ OUBJ (vi)
Define Altitude or Height of a triangle. ’ 4 Cﬁl v 7 | 4 cm » ‘L{/uy/jp(&kﬁ/i(w (vii)
Constructa AABC , in which mAB =3cm ,mAC = 3.2cm,mLA = 45° uﬁ‘ﬁufl‘/.AABC (viid)
Define Incentre. uu_f/b.é,l/'](;f/(}uji (ix)

Part I ) 2
Note: Attempt any Three Questions.Q.9 is compulsory (8x3=24) 4_61’1}9 / dsr_u_ e £ /’ o@!ﬁﬁamr’uf c,éfi».b}
Solve the equations by the matrix inversion method. 4x 4+ 2y =48 _’c_{gf';«ﬁg/.}_/_,u’ﬁ’éﬂéufﬁfuibv (a)5
' 3x —y = —¥

Solve the equation for real X and y. (3 -2 (x +yi) = 2(x — Y0 2i—1 <2£qu-'y sxfens  ®)

Use log to find the value of &?(%(%% ~§":")LVC/EC.—JA urfif/l?/’)} (a)6
Simplify ray xEiy | XK L

| y(x+y) yx+y)  xy—2y
Facorize 25x% — 10x + 1 — 362? 25x% — 10x + 1 — 362% 227 (@7
Use division method to find the square root of the expression. x* — 10x3 + 37x* — 60x + 36-2—_{(}”/@ f:ﬁ,zf/ﬁe ()
Solve 5(x—3)_“x:1"§ -5-('%1?2~X=1-'§ r".{da (a)8
Construct AABC and draw the perpendicular bisectors of their sides. ~fo~,i"th.vf£CLW ZuisJtABC s (B
mBC = 2.9 cm ,msA = 30" msLB = 60°

Prove that ,fu_’/c:f.t‘ -9

“Any point on the bisector of an angle is equidistant
from its arms.” e OR oo

Prove that

“Any point on the right bisector of a line segment is equidistant

from its end points.”
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Note:- You have four choices for each objective type question as A, B, C and . The cheice, which you think, is correct; fill that circle in
front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that
question. Write PAPER CODE, which is printed on this question paper, on the both sides of the Answer Sheet and fill bubbles accordingly,

otherwise the student will be responsible for the situation. Use of ink remover or white correcting fluid is not aliowed

&"r;x

. D | (© B) | (A QUESTICNS Q-1
. “ -1 =21_1m1 01 ¢
[2 2] [2 0] [0 2] [2 2] S ’Jx+[0 ~1J“"[o 1]’(' i
0 2 0 2 2 2 2 o |, [—1—2.“[10 =
fx+ = 1 X T
I 0 _1] 0 1] Then Xx |
2~by-2 1-by-1 1~by~-2 2-by~1 The order of matrix {2 1]is. c..006[2 1]06 | 2
—i i -1 1 The value of (s ... ~.<‘:.“:,~gd/i9 3
46 a3 43 V42 Write 4°/3 with radical sign . e £06 5,947 | 4
lo .
longlogp Iogp+logq 1 gp logp——logq The value OflOg(p/q) 1S i log(p/q) = e .5
98 9q
p logp : -
lo (._) log(n — log(4 logp —logq issameas ... .. =logp—logq | .6
4w — g ~ay | log("/p)
c/f;l/;f 0}5 il 7 A, e,_ﬁ;éibg(4‘x + 3y — 2) 7
Inequality Sentence Equation | Expression | 4x + 3y — 2 isanalgebric ...
-3 | s e B, el Pl Lx? = 5x 4 6| 8
2)(x+ 3) x+6){(x~1 ¢ —2)(x -3 +1(x~6
HRERE § G- | -G s The factors of X% — 5x + G are ......
: 2 o N
ol D -2 43 £ sl -.;,,---()”lwx +x—6 s x—2| 9
HCFoix—~2and x> +x—6is...
) 2 b s Wor xt
4x? 165° —8x? 8x? et S SOV 6t | 1o
What should beadded to complete the squarce
of x*+ 64 ?
x> 10 x <10 x <10 x>8 If X is no larger than 10, thert £_. Fsit$2e10ddx S | 11
' ceaz(x,y)in(x—1, y+1) = (0,0).71] .12
(=1 =1 (r,D 1,1 CL,~13 (=1, y+1) = (0,0) Then (x, y) is ..
> . /Y Wiy
5 5 ; O LBl 8(0,0) (1, D 56 | 13
Distance between points (0,0) and (1, 1)is . . ..
FUIGLE | Bl 120 Loy al# ‘_‘QJM,--umfwcwm&ﬁng .14
Isosceles Equilatral | Rightangled Scalene A triangle having two sides congruent is called . . .
et | T - i LSS K0 LS | 1S
uﬁ‘/uﬁ{ Bisect at Trisect Bisect The diagonals of a parallelogram . . . . each other.
Nonisof right angle
These
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Answer briefty any Six parts from the followings. 6x2=12

Find the values of a ,b,c and d which satisfy the matrix

TR
ﬂ, then (AT = A4

52+ (52)3 g/ G

equation. {

y : N
Varify thatif A = 0
Simplify.

logea X = =

Find the value of X 3

If log2= 0.3010 , log3 = 0.4771 and log5 = 0.6990 ,

16
then find the value of log —

(x+y)? —4xy
(x-y)*

simplify (Vx + S Ex - )+ G y2)
Factorize {2 == 1)~ y(y -1

Reduce the rational expression to the lowest form.

Answer briefly any Six parts from the followings.
Find H.C.Fof 102xy%Z, 85xyz, 187xyz*

Draw the graph of ¥ = 4x wéa.,l'/.JI/ gy = 4x Giv)
write 3x +y — 1 = O inthe formof y =MX +C
(6,6),(4,-2)

Solve the equation

Find the mid-point of given points.

Find the distance between given points. (7 ;53 k1 =1

1f AABC = ALMN , then .
C 30°
60°
900 900
30° 60°
- B g M
) meN = GOmsA =

Find the unknowns in given figure

' 7107
oA

ddﬁ//_,fc/l,lﬁ/"gf.iilnj@é!&gﬂd’j@»

&'rjﬁ/fo'u:»/ufcalpl/éﬁd)ﬁé,(}b”uﬁd/ dslcea
[a+c a+2b} _ [0 ~-’7] e
c—1 4d—6 3 2d i
(AN = A SEI#IA = [é 1%
2
Simplify: (—2%) 5 g

-2 - wer 7
l0gea X = —;a‘ér;b’;v{dx

slog 5= 0.6990 s log3 = 0.4771 <log?2 = 0.3010 /!

log e ot
2 _4 s 0

(x—y)*

Oﬁ+ﬁMﬁFJ@u+w@LHﬂ¢ﬂﬁ

fx—1) —y(y = 1) LIVA

240y

€Y

Giy
(it}
(v)
{vi)

(vi)
(viii)
(0

g2 fen Lizmgedd. o Slits 3N

102xy°z ,85x%yz, 187xyzz,’q{(}’f‘(yw

g—‘ﬁz -1 éf:(:.zbtf

3 2
golve lx+ 2| — 3=5—|x+ 2| —*Z:JO
zzﬂf:fgfy = mx+cf3x+y—— 1=0
(6.6) (4, -2) 5 il b8 UL
(7,5),(1,-D e Mol 1B 5T

1 AABC = ALMN /i
M
C 30°
500
90° og°
Am 30° " 60

L N
@D meN=___ Gi) meA =

_é{,y,w'/Jn" MY xo(:b’tnﬁff@
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Answer briefly any Six parts from the followings. 6x2=12 -L[/ 4 f b2 /"' Lz ’ 4 :..Jf ALl A /‘ Jir
L

In the given congruent triangles LMO and LNO, .--u’fr}”zl,w(,(m »lx f}’”Lu'LNO/JILMOu‘:VJ = @

find the unknowns X and m.
2x+6

m O 12 N )
3 ¢m, 4 cm and 7 cm are not the length ofthe Triangle. ;ﬂ)-wuﬁ’ugw%wiwﬁ cmoidem,3cm (i)
-u:/;.-?L'u

Give the Reason.

A A
15cm 13 cm 15cm / 13 cm i
Find the value of X in the shown figure. J_frrt"x@()(’ Gii)
B ) C ¢
X D Scm 8 X D Sem
Find the Area of the figure. L S r:L” ,?JKJﬁ’ (v)  Find the unknown value of the fi gure...ujf f:"".wf J x r:l” tc,y Gv)
10 cm 10 cm
6 cm 6ecm|
16cxﬁ — ' 3 1601'1]' X X
Constructa AABC ,In which ui",f?wuf/t’/.AABC (vii) Find the Area of a figure. _J"/.._g{/?g()%f (vi)
mAB = 3.6 cm, meA =75 miB =45
Define Ratio "y ) - /‘7 J e’ (ix) Define In Centere. el Fe — /‘ J/ /{}uﬂ (viit)
Part- I (22 4
Note: Attempt any Three Questions.Q.9 is compulsoiy (8x3=24) <&JU9 / Jry 7 4 f =Wz ‘C:aﬂlfcf c_‘jf:da:’
Solve by the matrix inversion method 4x +2y =8 4x + 2y =8 -ég}aoud/dﬁ"ﬁﬁz‘ﬁ' (a)s5
Ix—y==1 3x=y = —1
avald g\qFT p\P+q g\ 9tT -
Simplify (%5) (‘;—) =5(aP.a")?",a %0 (%;) (%;) = 5(aP.a”)P T, a # 025 ®)
0.678%9.01 .3 &
Use log tables to find the value of 070:34 -Q:/r}”u:{ d/g,ti,?/,u‘/a,u JJ;,@ //W (a)6
VaZ+z + Vai=2 ' Jaiiz + VaZ=2 5 (

; ; yattid Var—a Lty e L] b)
Sl Vatrs - Vaiz e =
Factorize (x+ Dx+2)x+ 3)(x 4+ 6) — 3x? ./Z;df ()7
Find square root by division method. x* — 10x3 + 37x% — 60x + 36 -é.{(yl”ﬁ.:d 2rkC A e ®)

- 5 3

Solve the Equation 5(x6 2 x=1 —‘g g x=l== -c.,J’:(ubl/ (a)8
Construct the AABC and Draw the Perpendicular Bisectors ofits sides. ff._.v”l,d /£CWM—JU: u’bAABC )

mAB =53cm meA=45 meB =30
Inlhs il LB BN Eek -9
(ﬂﬁ@'dﬂ/;d:/&b;ﬁﬂu

Prove that any point on the right bisector ofa line segment is

equidistant from its end points.
NI ¢ ) | SR

—

c,u;uLLJl):ﬂul /‘/uJ’”LLL}‘JU/(fé{uV
_g.t:’,l‘u‘(j;

Prove that any point on the bisector of an angle is equidistant from
its arms.
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